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Int gradeO, gradel grade2
Int gradel[3];
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Int a[size];

 lower bound =0

- upper bound =size- 1

' size = upper bound + 1
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#define N 100
Int a[N];
for (i =0; 1 < N; ++i)
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float f[5] ={0.0, 1.0, 2.0, 3.0, 4.0};
[ f[0]=0.0,f[1]=1.0,...
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Int a[100] = {10} ;
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intx[3]={1,3, 5, 7, 9}
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char word[50]; Il KK g5 At
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word[1l]= @@

word[2]= &@

word[3]=  ¢eq

printf( A%so0, word); // ] m5 N
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char word[50];
word[0]= 4.4
word[1l]= @@
word[2]= &G
word[3]= &4
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printf(  i%s0, word);
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scanf( i%so, word);
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64 kbyte = 64 X 1024 = 65536 byte (1k = 2" =1024)
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65535 WA  Oxffff
65534 Wz]  Oxfffe
65533 Mz  0xfffd

2 W] 0x0002
1 ¥x] 0x0001
1HIO|E 0 WHx] 0x0000
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= NULL

= &l ;

= (int *) 1776;
[* an absolute
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= &3;
= &+ 99);
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/*

In  memory */

register Vv,

*/
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char ch; 051
int in: 050 |
double db; 049
...048
. ~ L < 047
printi( Aich{ & :%u\no, &ch); ool
printf(  fin I :%u\no, &in):; 045
printf( Adb4| 4 :%u\no, &db); ~ou - db
ch{ 4 :1245052 /ichar N“Y{ 77T °? 041
in] 4 :1245048 // int N'Y{ AD TT°? 040
do{ & :1245040 //double  N"Y{ AD TT °? e R
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char ch;
intin;
double db:
*&ch = P4 i 4
*&in = 100; no4

*&db = 3.14; I/

printf( AN"Ych> = J1 T =
printf( AN “Yin> 5 < J] ?
printf( AN “Y db> & < J] ?

&dbw wp w "7
: %c\no, ch);

: %d\no, in);
: %lIf \no, db);
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int a=100, b=0;
b = *&a; oL gawwe w_ " {24 0 U oy

printf  (Abq| ?> :%d\no, b);
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int a=10, b=20;
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printf (fa{ » :%d\no,a); /a{ ?3 20L 1 oy
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int a=10; Il'int N"YAT,J"Y? 10pP A,
int *ap =&a; / int & NYAT,af ADTI? P A,

1 2~7)k
ZQIE{#H4ap intsd 4 a

printf( A%do, a);
printf(  fi%do, *ap);
printf(  A%u o0, &a);
printf( [%u o0, ap);
printf( A%u o0, &ap);
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int a=10; Il'int N"YAT,J"Y? 10pP A,
int *ap =&a; / int & NYAT,af ADTI? P A,
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printf(  f%do, a); Ilak 1 ,a ol J"Y? 10
printf(  Ai%do, *ap); I ak 1¢ ,apw wp w' > boJ]? 10
printf(  fi%uo, &a); I ak 1¢ ,af AODTT ? 52k p
printf(  fi%u 0, ap); Il ak 1¢ ,ap> »oJ] 71 ? 52k p
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printf( fi%uo, &ap); / Ay, & NYap]{ AOTi ? 48k p
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-assign @1 A 4 & I€ cheolin 0/ > L 3= 1€,

#include <stdio.h> main &2 3 assign &2l ¥
void assign(); heoli .
an0 el cheoli??
int main() 0
{
int cheoli=0; siLiel Bl SIS 0 22| YOS ARSI
assign();
printf(" YW A1} > cheoli> = J1? :1%d\n" cheoli;
return O;
}
void assign() ‘YW 175 > cheoli> s« ? :0
{
cheoli=100;

}
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#include <stdio.h> main B0 S8 o
assign( &cheoli ); /] EAEZ TN AgeIRE YAZ,

void assign(int *ip);

. . assign &8 MAS I

int main() i i - o r

{ void assign(int *ip ); /EAEHFE Adste] EAES Pttt
int cheoli=0;

assign(&cheoli);
printf(" ‘“Yw A7 > cheoli> &< /17 :%d\n", cheoli); /100 1t

return O;
} main &2 A assign &t4=2| ¥
void assign(int *ip) 200 ZOUES WAZD
( e
ip=100; 2 e o
} cheoli ip

ip7t ZE2IE{E X &5101 cheoli& 7I2|ZICE

(main &0l A= cheoli H 42 A|ZFAZL2 2000(2H2 TR EHLI )
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#include <stdio.h>
void exchange(int *, int *);

int main()

{

int cheoli=10, metel=20;
exchange (&cheoli, &metel); I1/11]

return O;

}

void exchange(int *cp, int *mp)

{

int temp;

temp=*cp; //[2]

*Cp=*mp; /1'[3]

*mp=temp; //[4]
}
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*Cp = *mp;
main &2 HH
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